REBREH -ER
5 F

(GR:K£=#H ) [FEH5]) 202060 (EAREEHNEELEFRIS
15 25 3l 1P 514 6 h 71 8 i
B/8 & H BLuE KB FTE
05/10 [BBF +4 3GEHE 1= Q) 10. 79 % & 7 (3) 10T R0 EXQ) 1. 12 2 X% (1) 1. 23785 ZA () 132 AF EXQ) T4 E & 2
100m 2 -afH =2 -aFH ERIEARE ER-EARE =2 -B2HH =% -FiRA ERIEARE =#k- AT
05/11 +1.0thE =) 22.17 kI8 A (2) 22.38 #xlg 3R (1) 22. 84 Hl;E £XK@Q3) 23.29 B XK@ 23.53 #A)11 K#&E (3) 23.56 #H &% 3) 23.93 A g3 (3) 24.02
200m =R ABFH GR BB -EARE GR BB -EARE = - aFH =% - FiRAE =-FRA Ef- tHEAR 2R EtAEAR
05/09 A 1Z(3) 49. 65 |FkE = (2) 50.86 K EETE (3) 52.07 fBK XK (3) 52. 59 |BTH —4 (2) 53. 41 ix@A t&#&F (3) 53. 98|/ kK $F K (2) 54.21 #A)1l K¥E (3) 55.43
400m =ER-afH R EX-1EARE ER-EARE BREARE =% -2HH =Ll =% -FiRE ER-EFRA
05/10 iR |5 Q) 2,10.01 /4 B Q) 2,10. 38 |#Eok %71 (3) 2,10.97 B #E (2) 2,12. 27|38 RE(2) 2,12. 34 ¥0iZE A (2) 2,12.52|RE XIE() 2,13. 00 HFl EAXQ) 2,13.89
800m iR A FIEFEE =% - FiRAE =% - FiRA ER-EARE = EHEE =2k LA = LAf = -FRE
05/09 28 JmA0) 4,16.20/{kHE FAKER(3) 4,16.84 ;& FAIE (3) 4,16.85 23R £ (3) 4,18.99 #iE b (3) 4,21. 47/ K& L4t (3) 4,21.80 #E ZEth (3) 4,22. 13 Btk 0 E (3) 4,23.25
1500m ER-EARE =% LtH ER-EARE =3 E A =& E@ BREARE =% EL@AfE B A FIEFE
05/11 B A (2) 15,01.57 KZ& & 3) 15,10. 44| &8 KRE Q) 15,27.37 H#E 8 (2) 15,28. 24 #A =t (3) 15,39. 19 kA i AER(3) 15,42.10 %l #£:X Q) 15,45. 13 HF EF (3) 15, 46. 53
5000m ER-EARE E#-tHEAR ER-EARE ER-EARE =i LA =LA Ef- tHEAR =R AL FIEFEE
05/09 EE K% Q) 15.20 Wi BEAN(2) 16.19 #3H %A ) 16. 25 |3k EA ;= (1) 17.24 iR & (2) 17.47 B & (3) 17.77/ 81 X% (@3) 19.36/p#k 3RE (1) 20.75
110mH =% -FiR1 ER-AfH 2 -afH EBREARE BN R NEEE B - A FIEEEE R LEE
05/10 &# #A Q) 57.48 fBk XK (3) 59. 42 NYE E (2) 1,00.53|78Z 5%tk (3) 1,02.52/ 81l K& Q) 1,02.60 &R 15 (2) 1,03.15| L& K%1(3) 1,04. 15| 1L &= (2) 1,07.30
400mH =-AFH BR-EARE ER-EAERE =R INEE B A FIEFEE =R INEE =% - FiRAE =% EH
05/10 KEE Z@3) 9,47.91 =3 &3) 9,51. 76|k H Et (2) 10,11.09 HFH EF (3) 10,15.97 5K L (3) 10, 19. 32 iR &R (2) 10,29.78/5:&® &HE= Q) 10, 31. 80 E&JIIl #8E (3) 10, 33. 61
3000mSC Ef- tHEAR = FHZEAE B - A FIEFE =R AL FIEZEE R EARE =2k AR = LA =% -FiRAE
05/09 mZE K— Q) 25,52.18 @it A (2) 26,42.03
500 0mW S - FIEFE = - AFTH
05/10 wim EA Q) 1. 75 /v#k 18 (3) 1.75 E&y BRAR (2) 1.65/8RE EX () 1.55 787 #X(2) 1.50 =R & (2) 1.50 .—;E,R R 1.45| B =& (2) 1. 40
ES Bk 2 -afH =RV =%- kA =% - EHETHh 2 -afH =R INEE 2-afH =4#- LHE
05/09 Bk R/ (2) 6.77(+4.7) | HBH&F Q) 6.37(+9.9) A BA() 6.23(+71.3) #=ZE % (2) 6.21(+5.5) #AK F (1) 5.87(+8.3) £xEF I5(1) 5.86(+6.2) ’r’rm FEARER(3)5.75(+7.9) {fEE ZE (1) 5.41(+5.5)
FENE Bk B A FIEFEE =E8-a5FH = -AFH =R LAf =i AR =% - EiRAE =-AFH BREARE
05/11 R {67 (3) 13.45(+2.3) 57k F|i(2) 13.00(-0.4) Ek & (3) 12.31(+2.2) #MHA BA () 12.06(+2. 1) tFE &FH (3) 11.69(+2.2)
= BBk B -afH B2 - FIEFE B INGEEE =2 -afH N SE S
05/10 WE #E () 9. 83 #MF 3THE (1) 9.48/ 85K K Q) 9.31 Bfg #&& () 8.72 #IL HHEA(2) 8.39 RIF XIE(2) 8.12 Bl R&=E=(1) 7.59 dbAt 1&F0 (1) 7.17
fa 3% (6. 000kg) BN ER-EARE =2 -B2FH ER-EAERE =%- L@ =R AL FIEFEE ER-EAERE =% LHETH
05/11 =1 E1TQ) 29.97 57 B (3) 28.71 &E# X () 27.05 85K #K (3) 25.50 RI& KIE(2) 23.79 Exk & @3) 21.74 B 2E () 21.39 4t & E Q) 18. 62
M #24% (1. 750kg) B-afH =N =f- tHZESRE =2 aNH B - FIEFE =R INEEEE ER-LEAERE ER-EARE
05/08 #]AR K Q) 44,79 5¥ 1E1T(3) 19.54 &8 185 (1) 16.99 ;887 8&— (1) 16.25 £k I (2) 12.16
Ny3-1% (6. 000kg) B2 H = - AFTH ER-EAEE BR - AL FIEFE =22 H
05/09 =k H@Q) 51.21 /&% B X (2) 49. 19 RI&x KIE(2) 43.39| K#F K= Q) 42.60 LI 1EK(Q2) 41. 1475 17 (3) 38.82 4t #H(3) 31.11T KA BEAN Q) 34.52
x5 1) #% (0. 800kg) SR NEEE = tHZESE B - AFEFE aR-EARE =% LA =N EREARE ER-dbEABRE
05/10 A H 43. B {EAREE 44 15\ tAERE 45. 23 dALiEAEZE 46. 48|/\2E 46. 61| A Fah 47.25/ EHEA 47. 41 FLF1EEEE 47.67
4x100mR wE EA Q) XK #KQ) Tk EHQ) Big #E0) FHE #XQ2) e EXQ) BiE %2 RIB X1E(2)
A {Z3) TR EQ) WA EF Q) AN BAQ) INFR R (3) MU =AQ) WA KFEA) FEK R (2)
g £XQ) R 3THE (1) WA E# Q) XH k=2 ®Q) FiR & (2) BEE K1) R K#1(3) Bl KE @)
LA G) IR = (2) A Q) AR & (2) 7aE 5%Xth (3) g Kih (2) A ZE01) B E— (1)
05/11 AN H 3,21. 26 tEARER 3,24.26 B7;R4t 3,27.61 £H 3, 34. 43 LFIEREE 3,34.61 dbiEAEE 3,34. 72| I\38 3,35.11 EAEAS R 3,35.77
4x400mR I RAQ) GR #8155 /E) GR  #H)Il K¥E@Q) FMA #E#&F Q) Bl K& Q) AE & (2) 7aE %t (3) A Elak(3)
BTEH —4%(2) iEp R €)) wmiE BEQ) =#m thth (3) B R 5 (3) AN BAQ) FE #XQ2) TR £Q)
g £X03) ER BEEQ) AH #XEQ) Him AR (2 FEIK &R (2) INFR E R (2) fiiR & (2) B SEH(Q2)
A = Q) R =N (Q2) EE K% Q) {&KHE fAER(3) RiIB X1E(2) XH# E&EQ) INFR L (3) W E4 Q)
05/10 wim EAQ2) 4538 & F RA Q) 4431 | 1pFK L (3) 4059 FkE 1%EE (1) 3375 e EX Q) 3156 = fiik (1) 2785
J\FERRHR =-aFH GR B -BFH GR Ek-/MEE - INEE =4 £ HTah =R INEE
ot A HE 183 fEAREE 126 | AL FIEFEE VRIS 60 tALARE 52| BFiRJt A4\ biEAERE 35 EHA 33
R
05/09 -7 VB F g £XQ) 11.57 m*ﬁ FE1T Q) 11.87 #iE  [E(2) 12.00 Y H =& (1) 12.07 ¥$EEI =) 12.14FE &Q) 12.38 1&15,& —E) 12. 44 1LAO EF# (1) 12.45
100m =8 -AFH =R E*TEH =8-AFH ER-EARE =8-AaFH =2%- L@ =8-AFH i%ﬁ*{ﬁ
15
=28 - iR
05/11 +2. 4788k BEXQ2) 23.35 EAI E# ) 25. 44 \m1H F=() 26. 17
200m 2 -afH E- tHEAR B8 FHEAR




RBREHR -ER
x F

(GR:X=% ) [FE$hi5]) 202060 {EALEESNERELHEEIS
14 24 34 4 5 {i 6 iz 7 iz 8 fi
E fE J 3
05; IU i% +§g FEEIEI 7REJ(35 IZ 26 %"E ﬁ%(2j IZZI u% NY=] E y IZR E]-I:Il.S == =) K 3 7|I< L3 ** 7= 5 é‘—é
100m =8 FHE = -BFRAE a%-EHEE =B%-EHE ER-IEARE E-tHERE ER-IEARE =28 - iR
05/11 +1.5/ B &5 (3) 25.13 ik K& () 25.60/€H FEE(2) 25.84 BH¥ HFZE=) 26.53 @FlE FMHEZE Q) 26.59 f[ER BEZE (3) 26.89 & EEEF (3) 27.26 &£ FEB (2) 27.30
200m a5 EHEE R B&-EHE GR =& -FHiRd R E&-EHE R EARE BB CEARE EBR-IEARE 28 tHERE
05/09 HE MEBEZE@) 1,02.00 #H 2 (2) 1,02.61|p[Ef MEEH Q) 1,03.55/fE EEEF Q) 1,05.50FEH#F A1) 1,05.90 & #D2>&(2) 1,06.21 B§ & (3) 1,06.35/)Il1A BEF (1) 1,07.07
400m ER-EARE B LtHEZEARE SR -EARE EBR-EARE = -FRAE ER-BIRI =8 - FHEE - LHA
05/10 NG Z=(Q) 2,24. 20 INELL 1% (3) 2,25.02/AJIl #3%(2) 2,33.65 B #5%F (3) 2,37.94|IlLAX #E(2) 2,38.83/)IlHE B& (1) 2,42.67);5/Kk0 = (2) 2,43. 34|/ R Z1E(3) 2,46. 43
800m 2 - LFIEFE = -BFIRAE - FHESE 2R -tEAERE EREARE =28 LHfE S LFIEEEE = -BFRE
05/09 NG BZEQ) 4,54 46 BB EXK Q) 4,58.63 HF %+ (2 5,02.92/hELL 1% (3) 5,09.03 AJIl #3(2) 5,12.75 HA FEE Q) 5,21.69 LK FE(2) 5,35.24 FxKk0O & (2) 5,35.56
1500m, =1 WFIEFEE R FIEFEE ER-IEARE = -FiR B THESRE =8-tH ER-IEARE SR A FIERE
05/11 HF #F Q) 10,21.80 &8 E&X(3) 10,25. 79 @Il #3x(2) 10,53.34|tHO FEE (3) 11,21. 34 /hE 1L 15 (3) 11,34.71;F5k0O = (2) 11,47.55/ch & #nZE (3) 11,56. 40 {8 {GHER (1) 12,44.23
3000m BR-EARE = - FIEFEE - tHESE =28 LH = -BFIRA =R - FIEFEE - tHESE =R - REE
05/09 +8.5 i EHR(2) 15.60 =H 2 (2) 15.77/He $RE (1) 15.91/ 5% &EQ) 17.46 ;E& % (2) 17.811 KT EZE@Q) 18.04 HAK FiE= Q) 18. 175K BRi#&(2) 20. 29
100mH, B FHESRE BR-LtHZARE =8 - LHEfE =N =8N = -FiR =8 - FEF =N
05/10 B EL(2) 1,09. 26| FH 2 (2) 1,10.76|Eh #HE (1) 1,12.07/ KT EZE®Q) 1,16.29| & & (2) 1,18.30 /MR Z1E(3) 1,18. 38| & (3) 1,20.63 ¥k {EBREE(1) 1,21.93
400mH B tHESRE =E8-tHERR =8 FHE = -BFIRAE SR INEE = -BFRE =8 - FHE 28 iR
05/09 mE FEQ) 26, 06. 82
500 0mW Ex-EtHESE
05/11 Wk FFHFEQ) 1.60 #a FUHEEE () 1.50|# R F&(2) 1.40 #& &0 (3) 1.35|5E A #&75(2) BER-tHREAE 1.30| FK FHx=@Q) 1.15
E = B =85 R BB -EAERE = -BFIRE =R - INEE iz A1) = -BFRE = AT
05/09 e #RXEF Q) 5.25(+1.3)|EHE £5 Q) 5.25(-0.6) HFt HFIZE(1)5.15(-0.8) ET &HHta (1) 5,000 2 #7H(2) 4.91(+1.4) Bk R 2) 4.81(+1.4) ;a/f8 BFIF (1)4.55(+0.1) L8 HZE(2) 4.44(-1.2)
FE 1S Bk % EHE B8 EHE % EHE ER-tHERRE B FHESRE =8 /N =R -EAEE =R /NEEEE
05/10 kg &2 10.77 #1 £YEQ) 9. 78 5kFH EXE(2) 9.67 7% REK®Q) 8. 76 /M #k 75 (3) 8.76/{E4<K BZ&E(3) 7.89 A BfEE Q) 1.39 BF ®#&(0) 6. 61
T H#% (4. 000kg) BER-IEARE =R -BFRE =28 FHE = - FIEFEE = -AFH =R - FIEFEE B -IEAEE =R - REE
05/11 oiE FYEQ) 34.77 7% XREK®Q) 30. 45 ki A& (2) 30. 39 /I T4 (3) 28.31 7k H ZE=£(2) 26.09{fE< K BZEF@Q) 24. 51 /R HF () 22.86 |38 tHZ=(2) 17.53
FI#&3% (1. 000kg) = -TFRE =8 FIEEE ER-IEARE =8 EFfH =8-LHEE =8 WFIEEE =N =R /NEEEE
05/09 ;iE FUEQ) 35. 48 |HiR HZ&E (3) 33.04/1k% & (2) 31.883% FREXKQ) 31.25 &8 &) 29. 41 % &R0 (3) 27. 71 IMek 1BTH (3) 24. 48 5k H ZEE(2) 23. 41
1) #% (0. 600kg) = -BFRE =R - INEE ER-IEARE = - FIEREE BER-IEARE =R - INEE = -AFH B LAE
05/10 FH=E 50.02 7Rt 51.16| tALARRE 51. 28 A A RKEE 51.66 EHA 54.06 E7;RE 56. 13/ /Ng& 56. 50
4x100mR KHF BE(Q) GR B #eTE (2) GR BT Hhi) Higm = ) HER FES ) £ BE Q) # EMQA)
BB £50) +H FEZEQ2) £H B () R BFREEQ) B & (3) #FE F2(Q2) Al FHZEQ)
miE HFQ) TE T2#(2) @A BEx(2) fEp EEZE (3) Hep thE (1) INR ETE Q) Es (2
B HREA) O WE BFHFEEQ) F=H EQ) . A EEEF Q) JIIE £F () O BR EF(2) R B&F Q) |
05/11 tHZEAR 4,07.65 B7;R4t 4,09.06 EARKEE 4,09.21 EAE 4,18. 23 A FIEFEE 4,26.08 EHT 4,27.23|/1N5& 4,31.06 2R 4,31.75
4x400mR BT Hhta GR BH EAO) GR Him & (3) GR XH EX£(2) BB EXKQ) B & (3) HlE FHZEQ) &k BE Q)
FH Q) TR 2#(2) fIER EEZE (3) BB £5 Q) FkA & (2) HiR #S (1) Ea &2 INR ETE(Q)
Bl %% Q) INE L 1% (3) fIER EEZE () B HRF=A) EarK BEQ) He tHE (1) # £ @A) wiE M A)
#EBE B2 (2) Wk FFEQ) FRE HFEE®Q) i #HEFQ) NG ZEQ) JIIE &F (1) R & Q) FE 502
05/11 HE ER(2) 3750 % 0 (3) 2654
tiERR - FHESE = - INEE
tHREAR 101. 5 {EAREE 89 FHE=E 84 |B7;R1t 68 FLFIEFEE 63| /NEE 45 87 RmE 40.5 FHEA 27
ERn
05/10 |#-7" v&+ IR RE(2) 14. 34
100m a2 EHEE
05/10 IR pE (2) 2.80
Bk a5 ELHEE
05/09 IR A= (2) 3.84(-0.4)

ENEBE

= EHAR




	F01000000
	決勝記録一覧表

	K01001100
	トラック記録表

	K01001300
	トラック記録表

	K01001400
	トラック記録表

	K01002400
	リレー記録表

	K01003400
	記録表

	K01004400
	トラック記録表 (2)
	トラック記録表

	TP01071000
	用紙

	TP01073000
	用紙

	TP01074000
	用紙

	TP01082000
	用紙

	TP01091000
	用紙

	TP01101000
	用紙

	TP01110000
	用紙

	TP01304000
	用紙

	TP05071000
	用紙

	TP05073000
	用紙

	TP05081000
	用紙

	TP05110000
	用紙

	F02000000
	決勝記録一覧表

	K02001100
	トラック記録表

	K02001400
	トラック記録表

	K02002400
	リレー記録表

	K02003400
	記録表

	K02004400
	トラック記録表 (2)
	トラック記録表

	TP02071000
	用紙

	TP02073000
	用紙

	TP02083000
	用紙

	TP02093000
	用紙

	TP02112000
	用紙

	TP02306000
	用紙

	TP06071000
	用紙

	TP06073000
	用紙

	TP06083000
	用紙

	TP06112000
	用紙




